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L Instructions for Candidates

\ . 1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt all the questions. All the questions have three
parts. Answer any two parts of each question.

3. All questions carry equal marks.
4. Answers may be written either in English or Hindi;

but the same medium should be used throughout the
paper.
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Find the value of s, that maximizes output
per worker along the balanced growth path
ie, y*(t) . What happens to the economy when

it exceeds the value ? (3.5+4)

In the context of the Solow model with no
technical change, what is the saving rate that
maximizes steady-state consumption per
worker? (Assume that consumption is equal
to output minus investment). What is the
marginal product of capital in this steady-

state?

Examine in the context of the Solow model
the short and long- run effects of a one-time
permanent increase in the stock of labour.
Assume that g (growth of technology)=0 and

n (population growth rate) > 0. (4+3.5)

Assume that the marginal cost for a
monopolist is a constant i.e., c. The demand
curve is linear and has the form Q =a-bP
(where a, b are positive constants), Q, P have
their usual meanings and a-bc > 0. Find the
profit maximizing equilibrium (both price and
quantity), level of profits and consumer
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surplus if the good were priced at marginal

cost.

(ii) Classify the following goods as rivalrous and

non-rivalrous and by the extent to which they

are excludable - trade secret for Coca Cola,

music from a compact disc, a lighthouse that

guides ships.'Explain the role of the market

and the government in providing each of the

goods in the previous question.

CORNC)

(4.5+3)
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2. (a) Explain why, following a monetary expansion, the

exchange rate always overshoots its new long-run

equilibrium value. (7.5)

(b) Under the extended asset market approach to

exchange rafe determination, how does the
increased risk of foreign bonds impact the value
of the domestic currency relative to foreign
currency (the initial impact)? How would this

impact further affect the Expected Appreciation

“(EA) of the foreign currency (assuming that the

expected exchange rate in the spot market remains

unchanged) and the Risk Premium? (4+3.5)
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(i) ‘By running large deficits, the government
can attract funds from abroad, which can then
be used to stimulate privafe domestic
investment. However, such action would be
unwise, since the foreign countries are bound
to respond unkindly to this beggar-thy-
neighbour policy.’ Is this true or false?

Comment.

(i) What do you mean by stabilizing and

destabilizing stabilization? (542.5)
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3. (a) Consider aﬁ economy where :
The official budget deficit is 4% of GDP.
Debt to GDP ratio is 100%
The nominal interest rate is 10%
The inflation rate is 7%

(i) What is primary deficit/surplus ratio to
GDP?

(ii) What is inflation - adjusted deficit/surplus
to GDP?
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(iii) Suppose instead that output begins at its
natural level and output growth remains
constant at the normal rate of 2%. Will the

debt-to-GDP ratio go up or down over
time?

(iv) Explain cyclically adjusted deficit.
(2::2£2:1].5)

(b) Explaip. how each of the following would affect
the demand for M1 and M2 :

(M1 represents currency and checkable deposits,
M2 represents M1 plus money market, market
accounts and short term time deposits)

() Banks reduce penalties on early withdrawal
from time deposits.

(ii) The government forbids the use of money

market funds for check writing purposes.

(iii) The government legislates a tax on all ATM
transactions.

(iv) The government decides to impose a tax
on all transactions involving any short term
government securities {1.5+2+2+2)

P.T.0O.
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4. (a) (i) Distinguish between credit- driven bubbles
and optimistic expectations driven bubbles.

(i) What are the various practices commercial
banks use to solve asymmetric information
problems? 41 (3.5+4)

(b) (i) Distinguish between Friedman’s and Phelps’s
versions of the fooling model?

(i) What is a macroeconomic externality?
How do long-term agreements impose a

macroeconomic externality on the economy?
(4+3.5)

(c) (i) What are the common elements of the original

and the New Keynesian approaches?

(i) Explain using the New Keynesian model
why small nominal rigidities have large

macroeconomic effects. (2.5+5)
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(a) (i) ‘We see convergence among some sets of

countries but a lack of convergence among
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the countries as a whole’ Show with the help
of a diagram how the neo classical growth
model explains this phenomena. What other

predictions does this model make?

Does this prediction of the neoclassical model
explain the differences in growth rates across

the countries of the world? Discuss.
(4.5+3)

What are the determinants of expected

profitability of investment?

Explain the relationship between social
infrastructure and each of the following —
investment share of GDP, average years of

schooling.

What are the determinants of social

infrastructure? {3H3+1.5)

If the positive interest rate differential in
favour of a foreign monetary centre is 4%
per year and the foreign currency is at a
forward discount of 2% per year, roughly how
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much would an interest arbitrageur earn from

tl'xe purchase of foreign three-month treasury
bills if she covered the foreign exchange risk?

(i) Write a short note on ‘Crawling Peg System’

(4+3.5)
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